LA FERE R (BB
A/ R . PR Z i
E\/% E
(F1) R (4% 4) i A7
8/21 BOHA0T T VARG SRR g i
/ [T xT%j’ELJE T B
(H) b M o BE (IR R &)

HEOOFT DA RELFEBRFEOHKEIZDONT

AB. F=ICEAT 11710(955) A [(#F 1 3650(252) A. #EE&™ 1154(352) A, fEMET 961(72) A, FEE ™ 991(46) A, BAAT™

671(23) A. IR 4283(210) AIDOFHE OO S I/ L RBREEBEINFERINLFEL,
D56, BEBEENEHEAAE D 4283 AIZDLVT,

(OAIE, BUEBEE
REHRROBEEZSMOELET .

EEEHLY 818433 A x EEERTYEER 101514 A
X BBTEE I (/18R EIMTIFLET . BUEITREEH
(N)
[#h3s] Bl B& emazex
BH BRuEs [E4] o8 o8
HE |#Eh 66] — S 562] 13.1%
BlETH 3 71 104% 558]13.0% 304 2301|53.7%
B e (B2 13 99 201% 601 14.0% UF '
BEM ). 220| 14 __| 304 580]13.5%
EFEREREUEHEMERN 0 — 404% 618]14.4% 40- 11711 27.3%
=Em ] 229( .42 | 504% 553 12.9% 504% '
= T ) 190] .33 | 604X 361| 8.4%
EREREUEHFERERN 0 — 704t 243| 5.7% 601% 311!18.9%
Mrewdt |2Rm_ ] _490] __76___] 80ft 136] 3.2% LLE =
maEm 307]°35 ] 90 LA E 71| 1.7%
wRIET ] 54 12 | FELR 0] 0.0% - 0] 0.0%
FARERIUEEHENRN 0 — i+ 4283 100.0% = 4283 100.0%
BRET 41| 82
e ....]..438| 77 __| [1451] o
ot L1 [ A 192]...24. | E 2085(48.7%
RIEEE LS I I 86] . 4 | = 2197]51.3%
R ] 42| 5 ] ZDHh 1] 0.0%
mE BREEEHE 0 — £t 4283 1000%
mEET ] 88] ...5 ]
MEM ] 80[ .4 | [fEK] oN)
=¥ N I 114]°43] BERK 52] 1.2%
BB (B ] 94 3] SEIE 4150 96.9%
D 1 v PEE 81| 1.9%
£ 1) R 20| .11 Eha 0] 0.0%
IEBERIUEEMERN 5 — EL 0] 0.0%
JEER T 64| 103 &t 4283 100.0%
(L L) S a1)....2 ]
hiBEE *.ﬂ?i_ﬂ_iﬂI ______________________ 19]...0___] (B @BREL B I xE e —ses
JIET 200 0 — —
FREREEAEENEl 0 — EE 249|FE% 374
e 151] 5 ] E23 438|771 205
REM ] 66/ .3 _._] {Fikas 854|= M 133
AR 69) __.1.___] Ml 827|8% 61
i SO 0.0 mE 518]F# 200
B [EDREELEERER o — -
AT 16 2 B 94[MA 330
mEm 58] 1] it 4283
N L) N I 30/ ...2___]
FEEREUEFERERN 0 — [ HEFE]
SEm ] 1014 10_._] 8H14A(8A158|8A16A|sA 170 |8 A 18E (s A 198 |8 F208|8H21H
o I 11 ] @m|l@|w|lw|wm|®|@o]| @
{EE_, ﬁ;ﬁgg}g&-%}-ﬁ-;-&ﬁ ----- 2]------2 ----- REGH 12,036 | 7,915 9,953 [ 13,319 | 16,331 | 16,344 | 15,449 -
- %Eﬂ.—] EE* FEE 1(7) 7 BEHK 8875 | 5,878 | 7,359 |10,004 (12,267 | 12,259 | 11,583 | 11,710
Bkm 43| 4 | |£%1u9i§%‘§!z 760| 501| 749| 755| 56| 1o66| 967| 955
ﬁﬁﬁ&*é*ﬁ$}%]’ﬁﬁm 13? ; BB 1 B & %1]10270.7 |19,984.1 |19,527.4 |19,206.6 [9,190.6 |9,504.3 |9,746.4 [10,151.4
iR ﬂ:&ﬁ;mfﬁ """"""""" 69 " 16 ] BRI 2 0 |9.359.6 [9,109.9 [8,682.0 [8.381.7 |8:399.0 [8,711.7 [8.938.7 | 93159
FHRBERIUEEMERN 0 —
MR ] 106) .2 HGERBAS AR L E L O, BYMERO B S 1A
sepe (MEET | 102} 2] 0 . AR OB D BE LT DK - BT
mebLh L 114) 9| PEFE SRV 5. E7o, AL AR 5 72 3 FEEHER
ATRRELEENENL O = 1 | ~ombi=e, faiicii 5 M2 5 D #E0 =
TOH [ T B & B LET
it 4283 776 BEFEEZHEHAEIT 14108 A

¥ BERBEHBI. BREFEREEAHNOSET—FTT (@A 20H 24K,



